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In the diagram, O is the centre of the circle
A and RPS =40°.

Calculate PQR and ORS.

12, Tn the figure, O s the centre of the circle, ABC.
Giventhat CAO=20° and CBO=30°,
find ACB.

13. A,B,Cand D are points on acircle. AB is equal in length and parallel to CD.
Lines AD and BC intersect at E. Angle EDC = 35°

B (2)  Write down the size of angle ABE.
Nottoscale ~ Give a reason for your answer.

(b) () Findthe size of angle AEC.
‘Show all your working clearly.

(i) What does this tell you about
point E?

& Give a reason for your answer.
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Angles and Circles 2

1. Ineach of the following circles, find the angles marked with letters.

2&)

2. Ineach of the following circles, O is the centre. Find the angles marked with a

NelS

3 Inendlcrfmefllwlgﬁgum:fm‘lm value of x. Tn each case, O is the centre of
the circle
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In the diagram, AB is a diameter of the circle.
Given that

angle BAP = 24°

and angle BPA = 35°,
find angle BQX.
In the diagram,
ABC =25°
and BCD-16".
Find AXB.
In the diagram,
ADB - 54°
ACD - 58°
and CBP = 80°.

Find APD.
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In the diagram, O is the centre of the circle.
AB ad CD intersect outside the circle at P.
Given that

AGC =847
and BOD =32°,
find APC.

In the diagram, O is the centre of the circle.
Chords AB and CD intersect inside the circle at P

OB is perpendicular to CD.
Given that

AOC=81° and BOD =597,
find APC.
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10.

In the diagram,

and

Find the value of ACD.

In the diagram,

DAC =65°
ACB=41°

and BDC =27°.

Find ABD.
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